30.11.1 B S amEEADR P BT R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 el Aol sl Al el s Al dsdl AEH (5 | (&5
Xl 46, 182 109, 456] 53, 554] 55, 902 74 60l  -13 65 78 73] 563] 490 0 159 159
HI—TH 673l 1,440 701 739 0 1 1 1 0 0 4 4 0 0 0
FLl T H 555| 1,334 674 660 -1 0 -1 0 1 -1 1 2 2 2 0
LI =TH 449 1,042 505 537 1 2 0 0 0 2 2 0 0 0 0
SulAE 1,677 3,816]  1,880| 1,936 0 3 0 1 1 1 7 6 2 2 0
Sk —TH 4821 1,011 481 530 1 -3 -1 0 1 —4 6 10 2 2 0
. = 752 1,833 888 945 -1 -8 -2 1 3 0 2 2 —6 0 6
SR —TH 519 1,266 620 646 1 1 0 0 0 -1 2 3 2 2 0
S AT H 368 913 440 473 -5 -7 1 1 0 -5 0 5 -3 1 4
o h ] B 556[ 1,259 617 642 -5 -13 -2 0 2 -11 0 11 0 0 0
BN T B 223 494 234 260 2 2 0 0 0 2 8 6 0 0 0
ARt TH 635/ 1,650 820 830 2 5 2 2 0 5 5 0 -2 1 3
oA\ T H 391 918 453 465 1 4 2 2 0 1 2 1 1 1 0
oIl T B 597|l 1,454 725 729 -1 -15 -1 0 il -10 2 12 —4 0 4
S aatl 4,523 10,798| 5,278| 5,520 -5 —34 -1 6 7 -23 27 50 -10 7 17
e n—1H 332 804 406 398 2 -1 0 0 0 -3 2 5 2 2 0
e T H 936] 2,051] 1,002] 1,049 —4 -3 -1 2 3 1 6 5 -3 4 7
HHk o —TH 658| 1,448 701 747 0 3 0 0 0 1 2 4 2
W A AERL 1,926 4,303 2,109 2,194 -2 -1 -1 2 3 -1 12 13 1 10 9
Mt A — T H 567 1,264 621 643 4 0 -1 0 1 4 7 3 -3 0 3
ek R _TH 385 935 491 444 3 9 2 2 0 1 3 2 6 7 1
Mk R =TH 236 540 265 275 -2 -2 0 0 0 -2 1 0 0 0
ik L G| 539 1,328 682 646 -1 -3 -2 0 2 1 3 -2 0 2
msEr aaEtl 1,727 4,067] 2,059 2,008 4 4 -1 2 3 4 14 10 1 7 6
TEIT) 355 983 430 553 3 6 -2 0 2 7 9 2 1 1 0
HOEEN— T H 153 383 181 202 2 0 -1 1 2 1 2 1 0 0 0
HOEE T H 416 1,003 479 524 2 2 0 0 0 -1 1 2 3 3 0
HoEEI =T H 657 1,697 810 887 0 2 0 2 2 -1 0 1 3 3 0
HOEEAN T H 709 1,798 877 921 -1 -7 0 1 1 -7 3 10 0 0 0
HEROH T H 404 964 484 480 7 13 0 0 0 15 15 0 -2 0 2
HOEEIS T H 393 956 467 489 2 7 -1 0 1 7 8 1 1 1 0
HoEEOETH 632/ 1,460 715 745 -2 6 -2 0 2 3 9 6 5 5 0
HOEEHOSE 3,364 8,261 4,013] 4,248 10 23 —4 4 8 17 38 21 10 12 2
PESEER 1,474 2,997 1,403 1,594 -3 -5 —4 0 4 6 13 7 -7 2 9
FHIAR 327 697 352 345 0 —6 -1 0 1 -5 3 8 0 0 0
EE g —T 442 958 466 492 11 12 1 1 0 16 18 2 -5 3 8
EE g — T 238 505 257 248 -1 -1 -2 0 2 0 1 1 1 2 1
R =T H 488 1,133 568 565 0 —4 1 1 0 —4 4 8 -1 0 1
TEE Py T 585 1,243 582 661 0 4 -1 1 2 7 12 5 -2 0 2
EEP g R T H 198 514 248 266 0 2 0 0 0 -1 0 1 3 3 0
R A3 1,951 4,353 2,121 2,232 10 13 -1 3 4 18 35 17 —4 8 12
B RHT— T H 658[| 1,402 672 730 -1 -2 0 1 1 2 6 4 —4 2 6
EEIARRT T H 647 1,335 636 699 0 0 0 0 0 -3 3 6 3 3 0
EEOARRTAE 1,306 2,737 1,308 1,429 -1 -2 0 1 1 -1 9 10 -1 5 6
RPN 314 883 496 387 -1 1 0 1 1 2 4 2 -1 1 2
WHR—TH 694/ 1,687 840 847 0 1 1 1 0 -1 2 3 1 4 3
WOOR T H| 1,514 3,671 1,809] 1,862 6 14 -1 3 4 18 31 13 -3 9 12
WHR=TH 814/ 2,181| 1,069 1,112 1 6 2 2 0 2 9 2 5 3
HHRIT H 488| 1,204 580 624 -2 -3 -1 0 1 -5 0 3 3 0
HPREEE 3,5100  8,743| 4,298 4,445 5 18 1 6 5 14 42 28 3 21 18
HiR—TH 646| 1,578 771 807 2 2 2 3 1 1 4 3 -1 5 6
LR - TH 865 2,203] 1,085| 1,118 1 -16 -2 0 2 -8 4 12 -6 1 7

PR =TH 438 962 500 462 3 8 0 0 0 8 8 0 0 1
b iRAEE 1,949 4,743]  2,356] 2,387 6 -6 0 3 3 1 16 15 -7 7 14
T IROBTHT 315 800 381 419 -2 -1 1 2 1 -2 0 2 0 0 0
Vel 1,578 4,951 2,264 2,687 1 -5 -1 2 3 —4 7 11 0 1 1
M E T H 774| 1,864 922 942 —4 -7 0 2 2 —4 5 9 -3 0 3
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JNE] Fij T EE I H SREh e fhENRE TN E)
JLIRT HaEL 7 i sl A HEE AR ST ] Al R &R (H) | (=)

FYlE 1T H 698 1,872 957 915 0 -1 -2 1 3 -1 2 3 2 4 2
MoE =1 H 616] 1,561 779 782 -6 -6 0 1 1 —4 3 7 -2 0 2
A EN T H 873l 2,173| 1,066 1,107 1 -1 0 1 1 1 6 5 -2 1 3
RCENNE 582l 1,404 687 717 -2 -8 0 1 1 -8 1 9 0 0 0
MAESTH 409 1,038 497 541 1 2 2 3 1 0 2 2 0 3 3
Ml E e 3,952 9,912] 4,908] 5,004 -10] -21 0 9 of  -16 19 35 -5 8 13
VEPIe S 499 1,131 558 573 4 8 0 1 1 2 8 6 6 7 1
e —TH 323 692 340 352 -1 -1 0 1 1 -1 0 1 0 0 0
i — T H 588 1,351 661 690 5 0 0 0 7 2 2 2 0
A gl 911) 2,043| 1,001| 1,042 4 0 1 1 6 3 2 2 0
E— 1 H 359 736 350 386 31 30 0 0 0 38 141 103 -8 1 9
B — T H 644 1,383 673 710 -3 -8 -2 0 2 0 4 4 -6 0 6
=T H 399 1,021 519 502 3 6 0 0 0 4 6 2 2 2 0
EAaEkl 1,402 3,140 1,542 1,598 31 28 -2 0 2 42 151 109  -12 3 15
e —TH 383l 1,020 487 533 1 0 0 0 0 1 3 2 -1 0 1
HYE T H 421 1,076 530 546 2 4 0 0 0 -2 0 2 6 6 0
HHE T H 758 1,952 988 964 -1 -7 -1 0 1 -5 8 13 -1 0 1
W& T B 4511 1,048 499 549 1 3 -1 0 1 0 0 0 4 4 0
B E ] H 720 1,657 808 849 -5 -5 -1 0 1 -8 3 11 4 5 1
HHIENT H 220 483 248 235 -2 -3 0 0 0 -1 0 1 -2 0 2
HEOE 2,953 7,236 3,560 3,676 —4 -8 -3 0 | 14 29 10 15 5
<HWE—TH 612 1,449 711 738 -1 -3 -1 1 2 0 5 5 -2 1 3
<HEIL—TH 703l 1,541 761 780 5 5 1 2 1 6 8 2 -2 2 4
SHBEIL=TH 515| 1,175 586 589 2 —4 0 0 0 —4 5 9 0 0 0
<HEWLPTH 506[ 1,135 572 563 14 -1 0 1 7 11 4 8 10 2
<O T H 358 788 440 348 1 1 1 0 1 5 4 -1 1 2
< XA 2,694 6,088 3,070 3,018 13 13 0 4 4 10 34 24 3 14 11
WIE AR —TH 785 1,713 860 853 -3 -7 -1 2 3 -6 5 11 0 2 2
WIEAR T H 4310 1,087 540 547 0 -2 0 0 0 -1 2 3 -1 3 4
PIEARTSE 1,216/ 2,800] 1,400 1,400 -3 -9 -1 2 3 -7 7 14 -1 5 6
s 449 861 429 432 -1 3 0 0 0 1 8 7 2 3 1
ok —TH 973l 1,629 727 902 -8 —6 3 5 2 —6 7 13 -3 0 3
e T H 394 676 313 363 2 1 1 0 2 5 3 5 6 1
kR =T H 612/ 1,681 787 894 3 2 2 0 5 5 1 1 0
sk BRI H 379 816 392 424 6 13 3 3 0 10 13 3 0 0 0
oA sl 2,358 4,802 2,219] 2,583 3 18 9 11 2 6 30 24 3 7 4
FRIREET 20 59 31 28 0 0 0 0 0 0 0 0 0 0 0
B 765 1,827 888 939 -1 —4 -1 0 1 —4 3 7 1 1 0
VEEE 275 666 322 344 -2 -3 -1 1 2 -2 1 3 0 0 0
e — T H 4071 1,085 553 532 1 0 -1 0 1 1 1 0 0 0 0
e T H 370 875 436 439 12 27 1 1 0 21 28 7 5 7 2
oo B R 777 1,960 989 971 13 27 0 1 1 22 29 7 5 7 2
P — T H 620l 1,369 688 681 6 4 0 0 0 6 9 3 -2 3 5
P T H 494f 1,218 576 642 0 1 1 1 2 1 0 0 0
Ve A a1, 114 2,587 1,264 1,323 7 5 0 1 1 7 11 4 -2 3 5
P e 280 657 328 329 —4 -9 1 1 of -10 1 11 0 0 0
BEHIR 222 555 297 258 -1 —4 -1 0 1 -3 2 5 0 0




